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KEY

Precalculus -- Midterm 2018 Review #1 Date
Name Period
I. Given f'(x)=x2—2x+l, find f(x-3).
(X-3)2630(x-3)+1 = (3)(X-3)-2x +C +1
= X2-3%-3X+Q -2X +7 ,
= - 8X+1 X DONOT FACTOR - 1+ 5
5 BX41C] 7 simplifiea !
2. Find the domain of /(x)= x6
X6 ~ —r 1t 1177
b 7

3. Find the domain of g(x)=+/36+2x .

Lo,c) v, e0)

. O S
3¢+2X 20 < 7
L-18,2°) ~18
2X2-36
Xz-18 ®
4. Sketch the graph of f (x)=-x"+ 2 Give the domain and range in interval notation.
Pacent PIX) = X ’( @ Shidr vp2
D (-2/) 215 O%-Slecr
' o] © C
R:(-5,%) Wg XAWS EREEFE
5. Use the graph of h(x) = |x to graph the followmg (b) h(—x)+
pr=wy T A 4 et ShF
Pacent ST over up
° \‘,' Y-Axis
2l2

6. Given f(x)=3x+7 and g(x):2x3—5:ﬁnd the following:
Q) 9L - £1x) = 2x*-5((3 X+7)
=2X2%-5 -3X-7
= 2X2-3X-12
7. Given r(x)=x"-2x+16 and s(x)=2x+3, find r(s(x)).
- —— Ny ™
rl 2x+8) = (2X+3)*=2(2x+3) /¢
= (2x+3)(2x33)~YX-C+/C
= Yy2 4C¥4eXx+9 -¥X +00
8. Given f(x)=x"+7,find /'(x).

(@ (g-))
b) flx)- 9(x) =
= 6X3 - )5X + )yx2 -35

b) (f-g)x) Foer
(3x+7) 2 X2*-5)

=[¢x3 19 x*-15X-35

4x2 48X +19

y-= X3+7 3— 3 x-7
el f ul b IS
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9. Determine the intervals over which th

e function f(x)=(x—2)*+3 is increasing, decreasifig, or
constant.  /nE(EQSING’ (2,) ‘ :
decreqsing: (- e, 2) | :

10. Determine whether the following functions are even, odd, or neither:

(@) g(x)=x"+4x-7
4(-x) = (-X)S +4 (-x)
= =-XS -yx-7

vt (2,9 A gooh 15!

$(s|ala[a|a] 3] 3 3] 3] 3] o

(b) h(x)=3x"-21x° .
Ll hi-x)= 3¢-x)¥-21(-x)?
= 3x1 - 21x2

neithe

A R

. -¥x)= hix) +he funthon
9(*'), 3ince h(-X) H neven

11. Verify algebraically, that f(x) = 3x’

+2 and g(x)= i/x ; Z are inverse functions.

fOUN =4 (JG)=3(\8) 57 )°+2 = 3(5P)+2 =x242 =xV

— s b— o % J.__ =
g(€x) = g (3x%42) = sT3y%42-3 - \5)?)37- I = v

since £5D =X and g

12. True/False: if a function has an inverse t

wﬁxgg X, Yt furctions are inverses,

en it must pass both the vertical and horizontal line tests.

TRUE! If a relation is a function, it passes the vertical line test.
If it has an inverse function, then it passes the horizontal line test.
If both are true, it is ONE-TO-ONE.

13. Express 350" in radian measure.

3%°. M cadigns -
182°

35T
18

; 2 , ; 2z
14. Find one positive and one negative coterminal angle to —.

% pdd and Subtatt mulhvles of 2%

2{4«”"-3 g &qzr.,. 18- |20m | 2T -2T.9 - 2W_L87 -1

q 7 " 7 9 9 |3
ﬁﬂ 15. If cos@ = % , 00 <27, find all values of mnﬁd_ 16. Solve for x in the given figure.
C - - o8 x
TNg=-t2 | | Singe°= —3%
30 z o :
" 355in20" = X ¥ degeee
s 3 = MDdC’
Tine= 3 X= 1,47

17. An observer in a lighthouse 250 feet above sea level spots a ship off the shore. If the angle of
depression to the ship is 5, how far out is the ship?

18. Convert 135°14'12" to decimal form.

¥ 135,24°

s° = 250
Tan L

xTans® =250

X= 250 _ = |2857.51 €1
Tans®
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